Name: Date: Period:

1) Eliminate the parameter: x :% andy=3t-1

2) The point (\/5 —%j is in polar coordinates. Convert it to exact rectangular coordinates.

3) Convert from rectangular coordinates to polar coordinates for (—1, »\/§)

4) Convert the rectangular equation to polar form: 2x—-3y—-1=0

5) Choose the equation 6) Choose the equation corresponding to the graph shown below
whose graph is a rose
curve.
r=2cosé ] r? =3sin 20
r? = 4cos26 r? =9sin 20
r=2+4cosé r’ =3c0s 26
r =2cos46 r=9sin260

Let A(2,-1),B(3,1),C(—4, 2),and D(1, -5)
7) Find the component form, magnitude, and direction (in standard position) of the vector AC + BD



8) Circle the polar equation(s) whose graph is | 9) Find the angle between the vectors:
a parabola U= <_2,4> V= (6, 4)

. 15
2+3cosd

o 10
2+2co0sd

10

r= -
3-2siné

o 20
2—4cosd

10) Sketch the curve of the graph, represented by the following parametric equations from —2<T <2 and

complete the table.

T X v
X(T)=T?-3 >
3
Y(T)=L3rs1 1
2 0
1
- 2

11) Make a table and graph r =8cos36 for [0, 27]
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